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2. GLM
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(Poisson distribution)
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(generalized linear model; GLM)
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3. GLM
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000 data.frame “d”
> load("d.

> head(d)
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glm()
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> fit <- glm(y ~ log.x, data = d, family = poisson)
> print (summary(fit))

Call:
glm(formula = y ~ log.x, family = poisson, data = d)
(...0...0
Coefficients:

Estimate Std. Error z value Pr(>|z]|)
(Intercept) -0.115 0.204 -0.56 0.573
log.x 0.476 0.222 2.14 0.032
(...0...)

Coefficients 1000000000000
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R[] data.frame:

> load("d2.RData")

> head(d, 8) # U0 8 OO

Area x vy
1 0.017249 0.5 0
2 1.217732 0.3 1
3 0.208422 0.4 O
4 2.256265 0.1 0
5 0.794061 0.7 1
6 0.396763 0.1 1
7 1.428059 0.6 1
3 0.791420 0.3 1
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plot(d$x, d¥y / d$Area)
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plot (d$Area, d$y)
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GLM | offset

e family: poisson, [l U 1[0 L[
e link [J[]: "log"

e OODO :y ™ x

o offset U UMD : log(Area)

a, b1 000O0OOOO0OOOO
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glm()

faRZI8MNT 52T b £

fFit)<- (glm( = R4 F5 DS
Sk Y
family = poission(link = "log")
data = 4,
offset = log(Area)
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> fit <- glm(y ~ x, family = poisson(link = "log"), data = d,
offset = log(Area))
> print (summary(fit))

Call:
glm(formula = y © x, family = poisson(link = "log"), data = d,
offset = log(Area))

(...0..0)

Coefficients:

Estimate Std. Error z value Pr(>|z|)
(Intercept) 0.321 0.160 2.01 0.044
X 1.090 0.227 4.80 1.6e-06

Coefficients L1 U LI OO OO O O OO OO [
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GLM
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(00) OO000OO00  rbinom() glm(family = binomial)
ogd rbinom() glm(family = binomial)
Jooood rpois () glm(family = poisson)
O0o00o0oo rnbinom() glm.nb() in library(MASS)
(00) DOO00O0 rgamma () glm(family = gamma)
odd rnorm () glm(family = gaussian)
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